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3) Q.3 = ¢_1 "0t Ag XEEFELEIVY ) — MRARDOI—RIBRICK 54 VY — MR EABTE (N)
0 = Min(Q.; 0., Q.3 XEZD>55. RIOHEEZHBLAMHELTD
® 4 : ERFEH (RAFEAR1/3 "/HEEAR (1)X-1/2 (2)K-2/3)
T RIL b (SS400 B DEABEE 04 =0,/ V3 £T5B
Oy ARIL b (SS400 HHY) DIMAEBFR mEE 0, = 235(N/mm?)
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o AV YY—bDOXERE (04 = 0.5¢ (Fc - Ec) = 427.8(N/mm?) TEHET S
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1. FEEAMBTEDEGE

(1) RIL FEFBEABRREDSE
M2 ORIl FDFEBEEERE A, = 245 mmd)

REATIER 0, = 1/3 % (235 / V3) * 245 = 11080(N) = 11.1(kN) (3¢ 1133kgf)
GHATIERF 0, = 1/2 % (235 / V3) * 245 = 16621 (N) = 16.6 (kN) (3¢ 1694kgf)

(2) AVH ) —rXEBREIZKDA VY — FEBEAMTEDTE
A — FDOMED 2 OMEE A = 642.4(mm?)
EHITTER 0, = 1/3 * 427.8 * 642.4 91606 (N)
SEEATTERF 0, = 2/3 * 427.8 * 642.4 183212 (N)

Q = Min(Q, Q) & YEFBE AT EILX. RYAFER 11.1N) . EHAFRER 16.6kN) &3 5,

91.6 (kN) (3¢ 9347kgf)
183. 2 (kN) (3%¢18694kgf)

2. BAMAARBEOI—VIRBIREZR LAY HETEOFHE

AYHETEE c(mm)ET B, B)FK LY Q3= 1/3 % 1.7 % (0.5 * 3.14 * ¢?) > 11080N)E4 D c ZETETBE. ¢ > 112(mm)ETE
B, BHTIE. AYHETEEMBEDIFLULELTLNSA, 2R84 D29 D AFRERZIL 28.6mm T, 286 * 3 = 858 < 112
ERY EHEFETI-LTLS,
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